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fill SHIERZ =
L K E OB R (B K ) (zo1)
1010712811050 70
Ags | W i | mWEA | T W @ma | Ubry | TERL2E (200045)
F5 egE HAL 1H12H 2A3H 3A3H 45128 H 5H25H 67148 TH12H 8H8H 9/ 28H 10A17H 11A8H 12A6H
Kl | Al LA BE B 4y 11:20 11:10 10:50 11:30 10:50 11:10 11:15 11:10 11:45 10:45 10:55 11:30
K2 A2 PR AL ety sty sty sty ety ity it L it L it L i/ i /L i/
K3 | A3 R £ PRep PR RN Hif £ 2 2 i i 2 2
K4 | A KpE m 20. 15 20. 11 20. 04 20. 93 20. 82 20. 34 20. 19 20. 44 20. 35 20. 17 20. 10 20. 14
K5 = A5 DS n®/sec 13.78 11.09 9.97 119. 14 104. 53 36. 85 25. 57 49.17 43. 49 26. 58 22. 47 25. 26
K6 | A6 LK m 1.46 1.42 1.56 2.28 1.99 0.7 0.94 1.48 1.57 1.49 1.4 1.46
K7 | A7 BRAKIK IR m 0.29 0.28 0.31 0. 46 0.4 0. 14 0.19 0.3 0.31 0.3 0.28 0.29
K8 | A8 SR C -5.2 -3.9 1.9 8.3 25.2 17.9 21.6 26. 2 19.5 14.0 6.1 -4.8
K9 | A9 s C 0.1 0.1 1.2 6.6 11.3 15.6 20. 8 21.3 16.5 12.6 7.5 1.9
K10 = Al0 S8 (1) B BN b3 R [SREER: [SREER B Hata waE | EEEY | EeFED | EaE) | B
K11 | K11 S8 (2) — — — — — — — — — — — —
K12 | K12 S8 (3) — — — — — — — — — — — —
K13 | K13 S8 (4) — — — — — — — — — — — —
K14 | Al4 B () R B R R B I 5L 5 I 5 I 5L I 5L I 5L I 5
K15 Al5 B cm 30. 0< 30. 0< 30. 0< 4.4 9.6 30. 0< 30. 0< 15.5 30. 0< 30. 0< 30. 0< 30. 0<
K17 = A17 Tz 4y — — — — — — — — — — — —
K18 | Al8 it 1 ) BE 43 — — — — — — — — — — — —
K21 | BI pH 7.8 7.8 7.7 7.7 7.7 7.8 7.7 7.8 8.2 8.0 7.9 7.8
K22 = B2 BOD mg/1 0.7 0.6 0.7 1.6 <0. 1 1 0.7 0.5 0.6 0.3 0.3 0.1
K23 B3 COD mg/1 0.9 1.6 1.1 6.5 2 2.8 2.7 2.8 2.5 1.9 1.3 2.0
K24 B4 SS mg/1 6 8 3 184 37 8 17 37 8 4 3 5
K25  BS5 DO mg/1 15.7 15.9 15.1 13.3 12.1 10.7 9.3 9.2 11.6 11.7 12.8 15.0
K27 @ BT RIGE RS MPN/100m1 22 7.8 2 1400 330 130 1300 9200 1700 330 330 540
K1362) X62 E SN T {8/ 100m1 2 2 0 150 30 7 27 870 44 0 2 4






